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_ 2-13. Classify each of the structures as statically determinate,
- ‘ﬁ J statically indeterminate, or unstable. If indeterminate, specify the
degree of indeterminacy.
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15, Classify each of the following trusses as statically determi-
ate, indeterminate, or unstable. If indeterminate, state its degree.
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4-5.  Determine the internal shear, axial load, and
moment at point C, which is just to the right of the roller at A,
point D, which is just to the left of the 3000-1b concentrated fg
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Determine the internal shear, axial load, and bending
in the beam at points D and £. Point £ is just to the right
4k load. Assume A is a roller, the splice at B is a pin, and

a fixed support.
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7. Draw the shear and moment diagrams for each member of )
the frame. Assume the joint at B is a pin and support C is a roller.
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Note-1: for a structure with a closed loop break the loop to expose the internal reactions. Then the total number of reactions (internal + external) is denoted as r





Internal N, V, M





External Ax, Ay, Mz





A





Note-2: if only external determinacy is considered, the structure is indeterminate to the 12th degree (15-3= 12)! 











Note: the degree os static indeterminacy is the total of external and internal indeterminacies. A structure ( a frame or a truss) may be externally determinate but it is internally indeterminate. This is clear in the above example truss structures.








